HSC 2001 - Geography

Question 14

14 Refer to Sources I and K.

Which of the following had the greatest impact on the Avon—Heathcote Estuary’s
ecosystem in 2000?

(A) Estuary dredging

(B) Untreated sewage

(C) Recreational pressures

(D) Seepage from the former landfill site

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 17.5 26.7 17.7 15.3 71
B 31.6 19.1 16.7 10.4 8
(o3 29.8 45.8 57 68.9 79.6
D 21.1 8.4 8.4 4.6 5.3
N 0 0 0.2 0.9 0
Question 14
100
| S
20
=]
Gl
C
Ll
|
04—
Bn
o -__;. | -
Band 1:2 Band 253 Band 344 Band 45 Band 6

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.



Source | — Resource Management of the Avon-Heathcote Estuary, 2000
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Selected Bird Numbers January average The Avon-Heathcote Estuary:
1987-1991 Roosting or nesting sites Conflicting Uses of a Sensitive Ecological Area
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